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//% 5 ZShopInfo
public class ShopInfo {
private static String[] sweetsName = { "", "WZEDREKIE Yo~ "EHAr R TS Y BRSO AEbE "
private static int[] sweetsPrice = { 0, 2200, ~ 2400, 2800 };
private static int[] sweetsTotal = { 0, 0, ~ 0, 0 };
private String name;
private int shopTotal = 0;
private int localShipment = 0;
private int[] total = new int[31];
private int[] rank = new int[31];
public ShopInfo(String name) f{
this. name = name;
for(int j = 1; j < 31; j+H) {

total[j] = 0;
(1 ;
}
}
public void salesTotal(int sweetsCode, int quantity, int kind) {
int sales = | 2 |

total [sweetsCode] += sales;
sweetsTotal [sweetsCode] += sales;
shopTotal += sales;
if(kind == 2) {

localShipment += 1;

public void ranking( {
for(int m = 1; m < 30; mtt) {
for(int n = m + 1; n <31; nt+) {

if( R EALE )
rank[m] += 1;

} else if( 3) )
rank[n] += 1;

}

}

public void outName(O {
System. out. println(name) ;

public void outDetails(int j) {
int difference = totall[j] - sweetsTotallj] / 10;
System. out. printf ("¥t%-10s ¥t%, 9dF ¥t%2df7 ¥t% TdM¥n", sweetsNamel[j], totallj], rank[j], difference);

public void outTotal() {
System. out. printf ("¥t se L&A ¥t% 9dM¥n", shopTotal);
System. out. printf ("¥t HuG ek 5 ¥t%, 9dF¥n", localShipment) ;

}

// 7 5 ZSalesAnalysis

import java. io.BufferedReader;
import java. io.FileReader;
import java.util.Scanner;

public class SalesAnalysis {
private static Stringl[] name = { "", "ALWRIG", "MUHAE", CEREEE", CHENE", ESRIE", CGAEEIE", CKEUE", "HERIE", TREIE", ERET )
private static ShopInfo[] shop = new ShopInfo[11];
public static void main(String[] args) {
try {
for(int i = 1; i < 11; i+H) {

shop[i] = new ShopInfo([__(4) ]:

BufferedReader fileln = new BufferedReader(new FileReader("selling. csv"));
String line;
while((line = fileln. readLine()) != null) {
String[] str = line.split(",");
int code = Integer. parselnt(str[0]);
int sweetsCode = Integer. parselnt(str[2]);
int quantity = Integer. parselnt(str[3]);
int kind = Integer. parselnt(str[4]);
shop[code]. salesTotal (sweetsCode, quantity, kind);
}
fileln. closeQ;
} catch(Exception e) {
System. out. printIln("= 5 —=FELE LA + e);
}

for(int i = 1; i < 11; itH) {
shop[i]. ranking O ;
}

Scanner keyboardIn = new Scanner(System. in);
System. out. print ("JE&i 7 — FA~10)2 AL TL L&V, —=");
int code = keyboardIn. nextInt();
while(code != 0) {
shop[code]. outName ) ;
for(‘int j=1; 3 <31 34D {‘
(5) ;

shop[code]. outTotal O ;
System. out. print ("5 2 — F(A~10)Z2 AN LT LE L, =");
code = keyboardIn. nextInt(Q;

}
keyboardIn. close();
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Option Explicit
Dim Kmei(5) As String, Hmei(10) As String, Suri(10, 5) As Long, Sjuni(10, 5) As Long

Private Sub UserForm Initialize()
Dim Tanka(10) As Long, j As Long, k As Long, Hiduke As Long, Code As Long, Su As Long
Dim Hin As Long, Kya As Long, m As Long, n As Long, Gl As Long, R1 As Long, G2 As Long, R2 As Long
TextBox1. Text = "": TextBox2.Text = "": TextBox3.Text = "": TextBox4.Text = ""
Kmei(1) = "LE HA": Knei(2) = "HALHKA": Knei(3) = "=+ Hv": Knei(d) = "Wb b ->5": Knei(b) = " ="
Hmei(1) = "&H—w~xv": ~ Hnei(10) = " A <= —="
Tanka(1) = 150: ~ Tanka(10) = 800
Open ThisWorkbook.Path & "¥uriage.csv" For Input As #1
For j =1 To 10
For k =1 To 5
Suri(j, k) =0
(1)

Next k
Next j
Do While Not EOF(1)
Input #1, Hiduke, Code, Su
Hin = Code Mod 100
Kya = Int(Code / 100)
Suri(flin, Kya) =| @2
Loop
Close #1
For m = 1 To 49
Gl = IntC(m -1 /5 +1
Rl =m- (Gl -1 *5
For n =m + 1 To 50
G2 =Int(tn -1 /5 +1
R2=n-((G2-1 %5
If | RS AT | Then
Sjuni(G1, R1) = Sjuni(Gl, RD + 1
Elself | (3) | Then
Sjuni (G2, R2) = Sjuni(G2, R2) + 1
End If
Next n

Next m
For j =1 To 10
For k =1 To 5
TextBox1. Text = TextBoxl. Text & & " " & Kmeik) & " " & Format(Suri(j, k), "#it#, ##0") & " " & _
Format(Sjuni(j, k), "#0") & Chr(13) & Chr(10)
Next k
Next j
End Sub

Private Sub MLEE ClickO
Dim Kban As Long, p As Long
TextBox4. Text = ""
Kban = Val(TextBox2. Text)
TextBox3. Text = Kmei (Kban)

For (5)
TextBox4. Text = TextBox4. Text & Hmei(p) & " " & Format(Suri(p, Kban), "#### ##0") & " " & _
Format (Sjuni(p, Kban), "#0") & Chr(13) & Chr(10)
Next p
End Sub

Private Sub #7_Click(O
End
End Sub
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[7] 7O0U3LDHBEFRAT, 7075 L001)~B)ZEZEEl,
<7OU35LD5EH>
PR Z
b BREED 1 DA OHEIAT » 4 VEGES, BRI —E 2T 5,
ANT—%
BIH7 7 AV (7 7 A% SYUKUHAKU-F, L 2 — K% © SYUKUHAKU-R)
H AR
@D Frl= A | Bil%E B =B | fIEEC
“ (NIN(D)) | (NIN(2)) | ~ | (NIN(8)) | (NIN(9))
X X X X (% 1 )
FEIrER
(7 7 4 W% ITIRAN-F, L 3 — K44 : ITIRAN-R)
CRE VAR — )
(FD) GRS A) (RERIZE B)  ~  (FIEEEB) (AIEE C) (HRIGEH (& BB (%)) (EAD
1 3 2 ~ 0 4 21 55. 3 28
2 l 2 2 2 l l 2 2
31 2 2 ~ 6 5 23 60.5 12
(RERIEED 76 58 ~ 130 111 767 65.1
(EEX) (=BG GEE&D GEBREEHR (%)
L VIEN 76 124 61.3
2 2 l 2
o= C 111 186 59.7 (&2 R)
ALERZEA:

1. B1IKOEH7 7 A VOF—= BRI AOHE SV, HOFNECEHRENTVE, BE, BERIETH S,
2. 7 — 7 VHEYA-TBL IC 3K EXDS, 57— 7V TEI-TBL ICIZEENH S5 UhidiEs T3, 7F, HEYA-TBL & TEI-TBL &

IRFTRIEL TV A,
5 — 7 HEYA-TBL
HEYA (1) (2) ~ (8) (9)
(A=A [BBIEB [ ~  [FEEB [FEEC
5—7JV TEI-TBL
TEI (1) (2) ~ (8) (9) (10
| 4] ol ~ | 6] 6] 38]

GEE&D
3. WHIH7 » A vaEHis, 7— 7N SYU-TBL I, HHARZES S 5, 58, 107HIcEBMNGHZ, 32THIC3EE &%
Koz, £z, SYU-TBL OfT 4RI H &, FIJ70E T — 7V HEYA-TBL &RFTHIGL TV %,
7 — 7V SYU-TBL
SYU (1) (2) ~ (8) 9) (10

l l l l l l l

(32 ~ (E=EMEED
(HBI&ED
4, 77 A NVERAEZICDE, 7—T7IWEKAD-TBLICH T & OEBBMIF(%) 2K, 7 — 7V JUNI-TBL (2 E BB#F (%) ©
BENE BN 2>, 62 XKO & S ITHIF S %,

7 — 7V KAD-TBL 7 — 7V JUNI-TBL
KAD JUNT
(1 (1
! ! ! !
6D 6D
62
b. RRICEET LD 1 »HOEEBMHR (%) ZKw, 2RO LS ICHITFT 2,

<COBOLZFo¥s4L>
WORKING-STORAGE SECTION

01 END-FLG PIC X(01) VALUE LOW-VALUE.
l
01 MEISATL.
02 PIC X(08).
02 M-I PIC Z9.
02 MEI-SYU OCCURS 10.
03 PIC X(05).
03 M-SYU PIC ZZz9.
02 PIC X(10).
02 M-KAD1 PIC Z7Z9.9.
02 PIC X(08).

02 M-JUNI PIC Z9.
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01 MEISAT2.

02 PIC X(02) VALUE SPACE.

02 M-HEYA  PIC X(08).

02 PIC X(05) VALUE SPACE.

02 M-SYUKEI PIC ZZ9.

02 PIC X(05) VALUE SPACE.

02 M-TEI PIC ZZ9.

02 PIC X(07) VALUE SPACE.

02 M-KAD2  PIC 779.9
PROCEDURE DIVISION.
P1. OPEN INPUT SYUKUHAKU-F OUTPUT ITIRAN-F
INTTTALIZE SYU-TBL METSAT1
PERFORM UNTIL END-FLG = HIGH-VALUE
READ SYUKUHAKU-F
AT END
MOVE HIGH-VALUE TO END-FLG
NOT AT END
PERFORM VARYING G FROM 1 BY 1 UNTIL G > 9
MOVE NIN(G) TO SYUCHI G)
COMPUTE SYUCHI 10) = SYU(HI 10) + NIN(G)
COMPUTE SYU(32 G) = | (1)
COMPUTE SYU(32 10) = SYU(32 10) + NIN(G)
END-PERFORM
MOVE HI TO HOZON
END-READ
END-PERFORM
PERFORM VARYING H FROM 1 BY 1 UNTIL H > HOZON
COMPUTE KAD(H) ROUNDED = SYU(H 10) * 100 / TEI(10)
\ 2 |
END-PERFORM
COMPUTE KAD(32) ROUNDED = SYU(32 10) * 100 / (TEI(10) * HOZON)
PERFORM VARYING T FROM 1 BY 1 UNTIL I > HOZON - 1
COMPUTE J =T + 1
PERFORM VARYING K FROM J BY 1 UNTIL K > HOZON
I
THEN
COMPUTE JUNI(D) = JUNI(D) + 1
ELSE
P @
THEN
COMPUTE JUNI(K) = JUNICK) + 1
END-TF
END-TF
END-PERFORN
END-PERFORM
PERFORM VARYING M FROM 1 BY 1 UNTIL M > HOZON
)
PERFORM VARYING N FROM 1 BY 1 UNTIL N > 10
MOVE SYUM N) TO M-SYU(N)
END-PERFORN
MOVE KADQM) TO M-KAD1
MOVE JUNIQM) TO M-JUNI
WRITE ITIRAN-R FROM MEISAT1 AFTER 1
END-PERFORM
MOVE SPACE TO METSAT1
PERFORM VARYING P FROM 1 BY 1 UNTIL P > 10
MOVE SYU(32 P) TO M-SYU(P)
END-PERFORM
MOVE KAD(32) TO M-KAD1
WRITE ITIRAN-R FROM MEISAT1 AFTER 1
INITTALIZE KAD-TBL
PERFORN | 5
COMPUTE TEIKEI = TEI(S) * HOZON
COMPUTE KAD(S) ROUNDED = SYU(32 S) * 100 / TEIKEI
MOVE HEYA(S)  TO M-HEYA
MOVE SYU(32 S) TO M-SYUKEI
MOVE TETKET ~ TO M-TEI
MOVE KAD(S)  TO M-KAD2
WRITE ITIRAN-R FROM MEISAI2 AFTER 1
END-PERFORM
CLOSE SYUKUHAKU-F ITIRAN-F
STOP RUN
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CER% 274 1 H 18 H )
T ARMEEA AE RS SRR A
SER264E R (5200 LB ERBR T e rS5 I v Y 1%
B % B &K
[1] 1 2 3 4 5
[2] 1 2 3 4 5
[3] 1 2 3 4 5 N H
[4] (1) (2) (3) (4) (5)
[5] (1) (2) (3) (4) (5)
[6] (1) (2) (3) (4) (5) N H
............................................. (Java) » (THUOSE] ¢ [COBOL]J crererereremmmmniiiii.
[7] (1) | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
(2) | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
(8) | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
(4) | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
(5) | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
BRI R4 fr & = E R /N = i

Java |<w7ugiE| COBOL

EIREEE ) Tk
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SERR264EE (555201 TEHRAMERERB T v 25 2 v M Bk
= B K £
[1] 1 2 3 4 5
v v a Z 7 B2
0=
[2] 1 2 3 4 5
T 4 # + oo |s2a
10
[3] 1 2 3 4 5 7]\ i
Z223
A 7 v 7 S s 30
[4] (1) (2) (3) (4) (5)
7 yaj Z A T £33
Bl
[5] (1) (2) (3) (4) (5)
baj Z 7 a ™ 35
BRI
[6] (1) (2) (3) (4) (5) 7]\ i
T £33
:‘F_ /T g 7 Bl 45
............................................. (Java) ¢« ([TUOEEE] ¢« [COBOL] crerrrrreremeermnniiiniiiiii..
(Javal @ =, BEFORIEROEAIIRMHE,
[7] (1) r\a\n\k\ I:\j\:l\ \:\ \1\ Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il
(2) q\u\a\n\t\i\t\y\ Il Il \S\W\e\e\t\S\P\r\i\C\e\ [\S\W\e\e\t\s\c\o\d\e\]\
B)|total [m] > total [n],
(4) n\a\m\e\ i\:l\ Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il
G)lshop [codel. outDetails (j)
(V055 B KXF, IMNEELU=, BEFOREROZERIIRHEL,
[7] (1) S\j\u\n\i\ (Wj\’ Il \k\)\ \:\ \1\ Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il
(2) S\u\r\i\ (WH\i\n\’ Il \K\Y\a\)\ \+\ \S\u\ \*\ \T\a\n\k\a\ QH\i\n\)\
(3) Sur i QG‘I‘, ‘ ‘R‘l‘) >, Suri (G‘Z‘, ‘R‘Z‘) ‘
(4) H\m\e\i\ (\j\) Il Il Il Il Il
G)p. = 1 Too L0
(COBOL)
[7] (1) S\Y\U\ (\3\2\ \G\) | \+\ \N\I\N\ (WG\) |
(2) M\O\V\E\ Il 1\ \T\O\ \J \U\N\ I\ (\H\) Il
(3) KAD, (‘I‘) >, KAD QK‘) ‘
(4) M\O\V\E\ \M\ \T\O\ \M\_\H\ I\ Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il
(5) VARYING S FROM 1 BY 1 UNTIL S > 9 . .
£bm FT25=
ABRIG R = B E 5 #E R F /N i & it
Java |<wZ/BuSi| COBOL 25 100

EIREEE ) Tk



